32 B4 A2 vits Yol ©9 597 A= 82
AL 12H?
3 _ 3x0 = © @
52 52x© 100
@ 2 @ 22 ® 8 ®)12 ® 0.12
3 3 x 22 12
_2X2 22 19

52 52x22 100
L O®=12




H|| A& AAFSHH 2x + 4y + 18 = 5x 4+ 5y, y = —-3x + 18
y=-3x+182 0.1x-0.2y = —-1.5°] HY3FA 0.1x-0.2(-3x+
18) = -1.5 9] 10= H5IH

x—2(-3x+18) = -15

x+6x—36=-15

Tx=21, x=3

metA] y=9 0|2 x:y1:3olch




A2 y = (a+ x—a+3 o TAZI}F 24 26—y -5=0
o defmet WP wf, y = -3x+a o T o]y W27

® -3 @ -2 ® -1 @ 0 @1

2x-y-5=02y=2x-52 HAFFH 7]&7|7} 20|22
2=a+1 0|tk WEtA, qa =1 o[t}
IJHER y=-3x+a 9y dH1 0|t}




4.

oAl X2 — dxy 4+ 3y? - Tx + 5y — 8 = g-EalotH?

D (x+3y-8)(x+y+1) @ (x=3y+8)(x+y+1)
® (x+3y-8)(x—-y-1) @ (x=3y+2)(x—y+4)
@(x—3y—8)(x—y—|—1)

2= (4y+T7)x+3y2 +5y-8
=x>-(4y+Tx+By+8)(y-1)
=(x-3y-8)(x—-y+1)




5. sinx=cosx ¥ I, sinxcos x & & kit (T 0° < x<90°)

! N NG N NG
OF @ 04 @®45 0O

~&B

sinx = cosx & sin® x + cos? x = 1 o] YsHA

cos?x+cos?x=1

2cos?x =1

g cosx:\/i§ (v 0°<x<90° oA cosx > 0)
. g _ 1

: s1nx_7§

: sinxcosx—ixi—1

' 2 V2 2




o 189 479 ABC ol A = $4 AD ¢ BE 9] wH& G g
sha1, ZH7ke] 27348 M, N o2t sttt aAME o] Hol7b 6 < o,
AHZFd MNDE ¢ Yl o] & Fsfolet.,
A
M
NAG
B D C

m—m o]|EZ AEMD = AAEM = 6
74]1/\101 =n=3
MG.GD:1.2

AMEG:%XGZQ

m:m:I:QOIEEAMNG:%XQ:l

ADNG = 2AMNG = 2
. OMNDE = AEMD + AMNG + ADNG
=6+1+2
=9
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1
VBxav6 =18, V5x Vb =15 . V128 — «/§+7° o o, e %

27 F2 A2
D a<c @ axc<b ® b<a?+c?
a 1
Ga<y ®:<;
V6 x a6 =18
1 8% 1
S18s VE= 2 o JIEXIS s 346
V6 6
V5 x Vb =15
15 15 x 15
15+ V5= —= = V45
N 5
10
W2=f+?
—>x/128;\/§x10—\/@xix10—\/6_—8
o V1007 V2 N N

b g =3, b=45 ¢ =8°|E&

D3<8—>a<c

@3x8<45 »axc<b

®45<9+64 > b<a’®+c?

@)3<§—>a<[Z
8 c

1 3 1 a
S — — o)
Op<g~p<:lt




O|ZPFA A X2 4 (—m+ 3)x+24 = 09] F 2] 27} 2 o, T} S F

oM @14 @A @3h O 4

=22, 0+ 2851

a(a+2) =24°14 @ =4%F= -6

@ {4,6) E+= (-6, -4}

Oa<00|HF 2L 6 401 m-3=-6-4=-10
m=-7°B2 m< 00|t}

©a>0°H F 224, 60|

m-3=4+6=10

Som=13

@m=-7,130|28 RE ;9] gko] & golct




10.

- = -3x24+6x+5,y=-3x2+12x-4 9 AP x7}ty=p
o vt & A& ZH7F A, B 9 C, D 2ot y 3 Wy HE

_ AB EF
A4 E F, A x =gt t=da 44 G Het g o, —+—

CD GH
o] 3t Hotofet. (H, p<0)
£

>
> ®™eh: 2

B ‘

y=-3x>4+6x+5+=y=-3(x-1)2+8
y=-3x>+12x-4Ey=-3(x-2)2+8°|E=2
y=-3x2+12x—-4 9 JHTE=y = -3x2 +6x+5 & IHE
x Fo o g 1 BHF FgolEet Ho|BE T T Zo
Zrt.
AB=CD, EF = GH

AB EF

CD GH




